Maths

Year 1 - Home Learning
Week 5



Flashback 4

We have provided 5 'Flashbacks' These are daily

mental maths activities that ask questions linked

to previous learning. You will find each 'Flashback’
at the start of the lesson.



Lesson 1
Subtraction
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) Calculate 15 — Y

Werite nineteen in numerals.

Name the shape.




Please click play to watch
the video.

|
Have a think 'D
Counting back

using a number line
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https://docs.google.com/file/d/1F4YOSk4VTsuBKSCPROr5zlVi6h6I3XiM/preview

Using a number line or number track

| /‘71 13

16 | 17

There are printable number lines
and number tracks in your google
classroom.

Watch Mrs Ridley use a number
line to solve these subtraction
problems. Join in and use one to
find the answers too!

14 - 3
17 - 5 =
19 - 6
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https://docs.google.com/file/d/1zX6JpurQ5t4teLWGNAKR5OAVHnri3b3F/preview

Subtraction - not crossing 10

“ r u e o\r F a ‘ S e ? (counting back)

Remember to use

counting back to
check!



Subtraction - not crossing |0
(counting back)
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Lesson 1. Activity Option 2
Use counting back on a

Option 1 numberline to solve the
Print and complete subtraction number
worksheet 1 found sentences on the next
in your google slide. (There are
classroom. printable number lines
e — and number tracks in
s your google classroom.)
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Option 2: Use counting back to solve these subtraction problems.

O1 234567 8911121314116 17 18 19 20 o



Lesson 2
Subtraction crossing 10
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Subtract 8 from |7

O 1 2 3 ¥ 5 6 7 8 9 10MMNM1BMXKIBIIT7T VB2

2)  Add 9 and 8 together
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3) Write fifteen in numerals.

4)  Name the shape.
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Well done with subtraction yesterday. Today we are going
to learn about crossing over 10 when subtracting. Watch

the teaching video to learn more.

|
Have a think

Twelve snowflakes fell on my glove.
7 snowflakes melted.

How many snowflakes are left?

Can you spot
my good
mistake?
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https://docs.google.com/file/d/1HVvAMMUZ_kikObJU0659G92DCZsE98Fc/preview

Watch how we can use counters or other objects to help
with subtraction problems.

There were 17 cars in the carpark.
After school only 9 cars are left.

How many cars drove awayia
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https://docs.google.com/file/d/1q_Gtp2dQu-zXNpzkfFpJ-93jXZ_oFQ_k/preview

Tfrue 'or Faqllse ?

Remember to use

counting back to
check!

Subtraction - crossing 10
(counting back)

15



Subtraction - crossing 10
(counting back)
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Lesson 2: Activity

Option 1

Print and complete
worksheet 2 found
in your google
classroom.

@ There are 15 cookies in a jar. — (5]
Mo eats 7 cookies. @ |Cookies|
[ Rl
He counts back 7 from 15

Na'a'a'al
w[s[re[is
ft?

fa'a's
Ll e s e
many cookies does Mo have

il
e lef

b) 16-9
@ Use the number tracks to help you. )4

n)u,4={ ‘

Fa'a'a'a)
vTalaTe s Lo o Lo ls [o[r]aln]u]s

b) 1275=D

"Tela e s e o Lo Lo [w[n]a]s]u]s

Tela e s e 7 e s [w[n]alBlu]s

Option 2

Use counting back on a
numberline to solve the
subtraction number
sentences on the next
slide. (There are
printable humber lines
and number tracks in
your google classroom.)
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Option 2: Use counting back to solve these subtraction problems that cross 10.

15-6-=

14 -7 =

13-6-=

16 - 7 =

O1 234567 8911121314116 17 18 19 20




Lesson 3
Using number bonds to subtract
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Yearl Week4 Day

Complete the part-whole model.

O

(& O

Subtract S from |l

Complete the sentence using less or more.

13 is than 18

Name the shape. -

3
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So far this week we have been subtracting by counting back using number
tracks and number lines.
Subtraction

Counting back
I canusea

number track 12 —4=8
to count back.

AN

6 79 10 11@13 14|15|16 |17 |18 |19 |20

We have been counting back in ones. Now get ready to learn a faster way!

Important note for parents: this can be quite challenging at first. Feel free to
stick with counting back in ones if that supports your child the most.

The activity for this lesson can be done with whatever strategy works best
for your child.
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First watch this
teaching video.

I can use a humber line
@3 to count back.

B-5-0

9B7654321

I I S I A I oy |
1T T T T 1T 1T T 1T
2 34567 8 91011121314151617

Parent note: if continuing
with strategy of counting
in ones please stop video
at 4.38 and continue to
Slide 29: Lesson 3:

Activity

| |
b
b6 7 8

|
I
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10 11 12 13 14 15 16 17 18 19 20

-

—
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https://docs.google.com/file/d/1WZ3nWQNfSsAkiSr1X962f6txfF9hs0S5/preview

We have a new strategy!

Counting back to 10 is much quicker. 10 is a friendly
number that can help us with subtraction but we need to
use our humber bonds to help us do this.
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I can use a nhumber line
to count back.

17)-(9])=(8)

9 8765432 1

1 ! 1 1 | | | |
-ttt b
2 3456 7 8 91011121314151617

Tiny counted back in jumps of one.

I can use a humber line
S
to count back.

[ | [ | | | I/ I Y [ [ | | | | \I
T 1T 1 T 1T 1
2345678911121314151617
Ron counted back to ten first and then carried

on counting back. He was much faster than

Tiny because he used the strategy of counting
back to ten.
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Let's use our humber bonds to help us count back to ten first.

We start with 15. If we first count back to 10 we

need to count back 5 because 15 has 5 ones and 10

has O ones; 15 -5 =10 I like to count back to
10 first.

But we are subtracting 8. We need to use our

number bonds to break 8 into fwo parts. One part is [ ]_[ ] [ ]

5 (to get us to ten) and the other part is 3 - because 15 8 14

we know 5 + 3 = 8. N

From 10 we need to subtract the second part which
we know is 3; 10 - 3 = 7. Again our number bonds can I
help us do this quickly!

1 1 1 | | |
1T T

b
[ 1 1 1 | | 1
T 1T 1 1 171
2345 678 90011 121314019)16 17

Using number bonds and counting back to ten first is much
faster as we only need to do two jumps on the number line.
25




This can be tricky to understand at first. Let's look
using resources.
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https://docs.google.com/file/d/13qjDd702Fcfyfkf7-BaMezNFLG_sWWrs/preview

1 r u | e 0 r F a ‘ “ s a ? Subtraction - crossing 10 (1)

I3 -6 3-3-3

1 12(3|4(5(6|7|8[9(IO|N|2[I3/H|I5

The result is the same.

Think about number bonds
to make 6.




“ r u e 0 r F a ‘ s e ? Subtraction - crossing 10 (1)

-6=17 I3-3 -




Lesson 3: Activity

Option 1

Print and complete
worksheet 3 found
in your google
classroom.

wwwwwwwwwwwww
\\\\\\\\\\\\\\\\

Option 2

Solve the subtraction
problems on the next
slide.

You can either subtract
by counting back in ones
or use the new method
of counting back to 10
first. You could use
objects to help you.
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Option 2: Use counting back to solve these subtraction problems. The first has
been done for you. Use either counting back in ones or counting back to ten first.

15-7-=

1 2

16 - 9 =

30



Lesson 4
Subtraction - comparing humbers



Fla@hvba@k Yy  Yert Weekad Daya

))

Use <, > or = to compare.

3+7( ) 7+3

Work out 16 — Y

Complete the sentence using less or more.

19 is than 9

Name the shape. I

32



Please start by
watching today's
teaching video.

Question 4

6

4|
LU~

B

q

White
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https://docs.google.com/file/d/1drvYXb_mKontMd5-qnXFtqbFTTKbhG-d/preview

Who has more?

OCOO0O0000000000
000000000

We can see Tiny
has more, but how
many more?

click to reveal




There are 16 buttons altogether.
The whole number is 16. One part
is pink - there are 7 pink buttons.
What is the other part?

Let's comparel

o’
‘ ‘ ‘ Ther'e are 16 buttons.

a There are 7 pink.
°0¢ o

How many are green?

e 35




Let's look at comparing using resources.
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https://docs.google.com/file/d/1qYQF4AyTguujh5dygrg5H_KsI3iXajFD/preview

| ‘ r ye o r F q ‘ S e ? Subtraction - crossing 10 (2)

OOOOOOOOOOOOO
OO

There are 6 more red beanbags than yellow.




Subtraction - crossing 10 (2)

False

O OOOODOOOOOO

GO

There are 6 more yellow beanbags than red.
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Option 2

Lesson 4: Activity

Option 1 4 116 (|9
Print and comple’re Choose two cards to complete
worksheet 4 found the subtraction.

in your google

classroom. 1 _ _

How many subtraction

number sentences can
you make? They must
be mathematically

correctll



Lesson 5
Problem solving with subtraction



F | 1 g h ba c k u Year1 Week4 Day5

) Use <, > or = to compare.

8+4( )7+5

Work out 18 — 5

Werite IS in words.

Name the shape. ‘




You have been learning subtraction really
well this week.

Today we are going to learn that
subtraction also helps you calculate the
difference.



Let's look at the dice scores to help us

understand.

@

Burlington Bear rolled 6

\m mjs Brian Bear rolled 11

Are the scores the same?

The scores are
different.

But what is the
difference between
the scores?
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Let's represent the scores in counters.

11- 6 =5
The difference is 5

900000

__ 00000000000

G
(&)

/@T(‘é If I take away the smaller amount (11 - 6)
you can see the difference.
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Let's practice finding the difference between 2 different numbers.

We can use counters (or any small objects we have) or we could use
subtraction.

On this slide let's just look at the counters and compare. Can you count the
difference?

0000000000 K
DOOO@  canyou count the
difference? The

difference is 6
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Now let's practice finding the difference using subtraction.
There are 11 red counters. Take away 5 yellow counters.
We are left with the difference.

11 -5=6

The difference is 6
00000000000
0000
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Let's find the difference just using subtraction.

8 and 4

7 and 3

12 and 4

8-4=-4 Thedifferenceis 4

7-3=4 Thedifferenceis 4

12-4=8 The difference is 8
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Activity Option 1

Can you roll 2 dice and calculate the difference?

You can use counters or you can use subtraction.

Challenge 1
Which pair of numbers could you roll that have the difference 4?

Challenge 2
How many pairs of numbers could you roll that have the difference 3 ?
There is more than one solution, Can you find all of the possible answers?
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Activity Option 2 This is an extra hard challenge

Three siblings are giving clues about their ages.

Lin's age is 4 years more than Jian’s.

The difference between the oldest and

youngest is 7 years.

How old are Bo and Lin?
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